







































































































Pythagorean Thm. from Heron's Formula (cont.)

Taking all terms to the left side, we have

$$(b^{4} + 2b^{2}c^{2} + c^{4}) - 2a^{2}b^{2} - 2a^{2}c^{2} + a^{4} = 0$$

$$(b^{2} + c^{2})^{2} - 2a^{2}(b^{2} + c^{2}) + a^{4} = 0$$

$$[(b^{2} + c^{2}) - a^{2}]^{2} = 0$$

$$(b^{2} + c^{2}) - a^{2} = 0$$

$$a^{2} = b^{2} + c^{2}$$

Thus, Heron's formula provides us with another proof of the Pythagorean Theorem